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The basic mathematical skills, understanding of elementary mathematical concepts, and
the ability to reason quantitatively and solve problems in a quantitative setting are
measured in the quantitative part of the test. The knowledge of arithmetic, algebra,
geometry and data analysis, which are usually essential area of study of the high
school level are measured in balanced questions. The questions about quantitative
ability can also be asked from:

» Discrete Quantitative Questions

™ . Quantitative Comparison Questions

» Data Interpretation Questions ete.

This section is discussed and explained in detail in this book. Topic by topic

explanation is given to facilitate the candidates. Explanatory answers are also given to
avoid complications.
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Chapter-1: - NUMBERS
Numbers;:
In decimal number system, we use ten symbols 0,1, 2,3, 4, 5, 6, 7, 8, 9 called digits, to represent any number.
i Note: A group of figures, dencting a number is called numeral.
Types of Numbers

Nataral Numbers:
Numbers which we use for counting the objects are known as natural numbers, It is denoted by *N'.
' N=1{1,23,4.....}
Whole Numbers:
All Matura| Numbers together with zero form the set of all whole numbers. It is denoted by “H7,
W=1{0,1,2,3,....
Integers:

The set of numbers which consists of whole numbers and negative numbers is known as integers. It is denoted
by Z. )

Positive Integers:
Theset Z"={1,2,3,4,......} is the set of all positive integers. It is clear that positive integers and natural
numbers are synonyms.

Negative Infegers:
Theset Z7={-1,-2,-3, ..... } is the setof all negative integers.
I_Rgmember: “0" is neither positive nor negative,
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Non-Negative Integers:

Theset {0,1,2,3,...... 1 1s a set of non-negative integers.
Non-Positive Integers:
The set {0, -1,-2,-3, ...... } is the set of non-positive integers,

Even Numbers:” . _
The numbers which are divisible by 2 are called Even Numbers.
E=1{2,4,6, ... }
Odd Numbers:
The numbers which are not divisible by 2 are called Odd Numbers.
O={3,9,11,17,19, ...}

Properties of zero:

0 is neither positive nor negative,

0 is an even integer,

0 is smaller than every positive number.

(} is greater than every negative number.

For any integer p; p x (1 = 0. _
For any integer p (including 0): p + 0 = 0. \© l

For any positive integer p; 0 + p; ;% = undefined.

For every integer p; p+ Oand p— 0 = p.
If the product of two or more numbers is 0, then at least one of them is 0,

S s

FProperties of one:

For any numberp:px | =p andffﬂp.

1 is the divisor of every integer.
lis an odd integer.
| is not a prime number, because prime numbers should be greater than 1.
1 is the smallest positive integer,
. For any number n: "= 1.
Factors and Multiples:
A number which divides a given number exactly is called a factor of the given number.
Example I: Find the factors of (i) 64 and (ii) 75.
Solution; (i) 64 =1x64
=72 x32
=4dx 16
: =88
The factors of 64 are 1, 2, 4, 8, 16, 32 and 64,
(i) 75 =1x75 '
=3x25
=5x]3
The factars of 75 are 1, 3, 5, 15, 25 and 75.
Division Algorithm:
Let a and & be two given integers such that b =0, On dividing @ by &, let ¢ be the quotient and r the remainder,
thena = hg + .
Clearly, D0<r<p
In general, we have

Dividend = (Divisor » Quotient) + Remainder
Multiple of a Number:
A multiple of any natural number is a number obtained by multiplying that number by any natural number.
Example: Find the multiples of: '
{1) 4 less than 30 (i) 9 less than 60
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Solution: {i} 4 =1 =4
: 4x2=8
dxi=12
dud=16
4x5=120
4 x6=724
4% 7=28 etc,
The multiples of 4 less than 30 are 4, 8, 12, 16, 20, 24 and 28.
(i) 9x1=9
9x2=18
9x3=27
Bxd=134
Ox5=45
9 %6 =354 etec,
The multiples of 9 jess than 60 are 9, 18, 27, 36, 45 and 54.
Divisible of a Number:
If a number divides a second number without leaving any remainder, then wc say that the second number is
divisible b}f the first number. For example, since the number 2 divides 14 vrlthr:rut leaving any remainder, we
say that 14 is divisible by 2.

Q1. How many uumhm between 200 and 500 are divisible by 137

(A) 23 By 17

{(Cy 15 oy 32
QY. The first five multiples of 17 are: '

(&) 0,1,17,34,51 (By 17,34,51, 68, 85

(C) 38,57,76,95 114 - (D} None of these
Q3. The number which is divisible by 7 but not by 14 is:

(A 21 By 12

cy 71. (D) Mone of these
Q4. The total number of even prime numbers |s

(&) 0 B 1

<y 2 - (D}  MNone of these
Q5. The least prime number is:

(A) © By 1.

© 2 ® 3
Q6. The smallest member of set W is:

(a) 0 {B)

Cy 2 oy 3
Q7. The smallest even number of three digits is:

(A) 98 (B) 102

(€ 998 (D) 100
Q8. The smallest 4-digit number usmg 7,0,8and 9 is:

(A} 0879 : _ (B) - 0789

(C) 0978 (D) 7850
Q9. The cube of ';‘is:

i I
(CV I B 3
1 o
€ 5 I 15
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. 3-7=
Ay -7 B) 7
€y -4 (D) 4
Q11. [If1isadded to the denominator of a fraction, it becomes GJ and if 1 is added to the numera
the fraction becomes 1. The fraction is: 1
4 10
(CVIE ®) 7
2 3
© 3 ® 3
Q12.  How many two-digit numbers are there which are divisible by 67
{A) 17 {(By L&
(C) 1s Dy 15
Q13. A number whaose fifth part increased by 5 is equal to its fourth part diminished by 5, is:
(A) 160 (B} 180
(C) 200 (D) 220
o
QId,  If(57(5Y =§;, what is d in terms of @, b and ¢?
{(A) a+b-¢ By a-~b+e
(C) a+b+¢ ’ . Dy c-a-&
QI15.  Which of the following is equal to (3° x 3%)™
(A) 37 B) 3%
(€ 3" (D) 3%
Q16, If0 <p <1, which of the following lists the numbers are in increasing order?
A pApA ®  p,7\p
© i ®) P pp
QI7.  The value of x satisfying /5 + H‘E =3is:
(A) 64 _ By 27
(C) 125 (D) 9
Q18. I, ¥ = (r[x), then x =
1 9
(A) 2 ) Y
3 1
© 3 ™
Q19.  (16)™ is equal to:
(A) 28 (B) 128
€y 27 (D) None of these
2
Q20. ‘S'ui' a number exceeds itsg by 8. The number is:
(A) 30 (By a0

(C) 75 () 90

Liplenatory Fhrswers ™=
QL{A} Number of numbers up to 200 which are divisible by 13 |

200 5 -
=17 = Iﬁ-l-ﬁ, ie, 13

Number of numbers up to 500 which are divisible by 13

00, 6
]3 _.'!'E-l' ]3 |.t.._ 33

* The required pumbers = 38 — 15 =123
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Hence, the correct answer is choice AL
Q2(B) The first five multiples of 17 are

N
Qu.(B) [E] 2o Ry Xy
Cxixl 1
T2x2x2 8
Correct answer is choice B.
' QIOC) 3+(-T)=3-T=—4

Correct answer is choice C.

2
Hence, the required fraction is -

The correct answer is choice C.
Q12.(D) Required numbers are 12, 18,24, ...... 26
Here,a=12and #=16
Ton=% —a+{n-1d =%
= 12+ (=1} =096
=12+ 6u-6 =05
= Gn+1) =96
' = n+1 = %ﬁ' =16
-
Henee, the correct answer is choice [,
X X X

X

QL) 5+5-~4—5 ::-4-—5—I[i
= 5x = dx =200
=5 x =200

17=1=17
- 17x2=734
17x3=351
17 =4=068
17 % 5 =85

First five multiples of 17 are 17, 34, 51, 68 and §5.
Q3(A) The number which is divisible by 7 but not by 14 is 21. Hence, the correct answer is choice A,
Q4.(B) There is only one even prime number, namely 2. Hence, the correct answer is choice C,
Q5.{C) The least prime number 15 2. Hence, the correct answer is choice C.
Q6.(A) (O is the smallest member of the set W. Hence, the correct choice is A.
Q7.(D) The smallest even number of three digits is 100. The correct cheice is choice D,
QB.(B) Using ¢, 7, 8, 9, the smallest number is 0789, Hence, the correct answer is choice B,

+ 1.
¥

A1)

...(ii)

o ha X x _1 x+l.
QI1L(C) Let the fraction I:rey. The.ny_i [=pand = i
. ¥ 1 _
1'-‘|rstw::mhn::}‘,+‘TL—2 =y+ =2
= dx-y=1
. . +1
Similarly xT= 1 =zx+l=yp
=x-y=-1
Subtracting (i1} from (i), we have
Zx—y= 1
_..I_—F_j"=:_i
x=2
¥ =l =ox-y=-1=2-y=-1=y=3
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Hence, the correct answer is choice C.

5[}
QU (%5 =5z
5ot =ge-d (By poweer rule)
=a+h =¢-4d
= d =g-—-g-p

Hence, the correct answer is choice D.
QI5.(B) Given thar, (3% x 3%
=(3*"% (By power rule)
=3Iy
= j 17 = 10
= 3170
Hence, the correct answer is choice B.
Q16.(D) For any number p, between 0 and |
P <pandp<\p
Hence, the correct answer is choice D.

QU74A) V5 +4x=3
5+*x =9 (Squaring both sides)
W =9-5
Nx =4
@) =@
P 4 axy

Hence, the comrect answer is choice A
QIBMB) ¥ =(nfry
¥ - {I lea'z}x
= =Py
= xr= (=" v

> o

=

o
Il

|
[]

LR =3 PR M[g-’

—]

o
]

Hence, the correct answer is choice B,
QU.®) (16)"
=@y
- 21 =4
=77
=128
Henice, the comect answer is choice B.
4 2
Q20.(B) SX~3x = 8
= 125 —10x =120
= dxr =120
= x =6&0
Hence, the correet answer is choice B.
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